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M) =F4—=/RS52ZN) = A b [150%] - 19,500 18,000 19,800
M) =F4—/ 35> R — b4 R 28 AR E—F] [1509] - 17,500 16,800 18,480
Ya—ka—2 [60%] - 9,000 8,500 9,350
29 =T 4 BEHN)— AL [150%) -- 19,500 18,000 19,800
RYRTFAAIN=T Tk [60%9] 7,000 7,560 7,000 7,700
JrAa b=y (MEKER) [60%] 5,000 5,400 5,000 5,500
JrAfab=y7 (26 BUKE) [60%7] 9,000 9,720 8,000 8,800
Jpqabzy 7 (28— 2) [120%] 18,000 19,440 1 6,000 17,600
I—F>7tyvar [904] 10,000 10,800 10,000 1 1,000
FA Ty hATHIL THrE— LY a> [90%) 8,000 8,640 8,000 8,800
Mt (+7'va)
MENL T ar -- 2,000 2,000 2,200
RYRFAHIIN=T T2k -- 5,000 4,800 5,280
JrA(ab=y 7 IR TV ay) 9,000 9,720 8,000 8,800
ANFZAILT M) — A MEALEE (> 7' ~7—) - 4,500 4,200 4,620
ANFRHLNT M) — bAY MEARE (Y a— AT —) - 4,000 3,800 4,180
Ya—hka—2 -- 9,000 8,500 9,350
Bl $5
M= A MESSE 3D FEHM - 49,500 48,000 52,800
bJ—bACMEES 6ES GROMYE) | ERAR) -- 99,000 96,000 105,600
M= A MRS 2B (S0dk) | ERAR (%3) - 192,500 186,000 204,600
Jr/nEHKL 3E -- 20,000 22,500 24,750
TrM(OEHKE 6E -- 34,000 42,000 46,200
Jr/nEHL 9E -- 46,000 54,000 59,400
TrAaEES |26 -- 55,500 60,000 66,000
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